

Perturbations of Nonlinear Maximal Monotone Sets in Banach Space*

H. BREZIS,
Courant Institute

M. G. CRANDALL
*University of California
at Los Angeles*

AND A. PAZY
Hebrew University

Introduction

Let X be a real Banach space and let X^* be its dual. The value of $x^* \in X^*$ at $x \in X$ will be denoted by either (x^*, x) or (x, x^*) . A subset of $X \times X^*$ is called *monotone* if for each pair $[x_i, x_i^*] \in A, i = 1, 2$, we have

$$(x_1^* - x_2^*, x_1 - x_2) \geq 0.$$

A monotone set is said to be *maximal monotone* if it is not properly contained in any other monotone set. Monotone sets are usually regarded as (graphs of) multivalued monotone mappings from X to X^* . Accordingly we shall use standard functional notation even when dealing with sets. Let A be a subset of $X \times X^*$. We define

$$\begin{aligned} A^{-1} &= \{[y^*, x]: [x, y^*] \in A\}, & Ax &= \{z^*: [x, z^*] \in A\}, \\ D(A) &= \{x: Ax \neq \emptyset\}, & R(A) &= \bigcup_{x \in D(A)} Ax. \end{aligned}$$

If α is real and B is a subset of $X \times X^*$ we also define

$$\alpha A = \{[x, \alpha y^*]: [x, y^*] \in A\}$$

and

$$A + B = \{[x, y^* + z^*]: [x, y^*] \in A \text{ and } [x, z^*] \in B\}.$$

If C is a subset of X or X^* we define

$$|C| = \begin{cases} \inf \{\|z\|: z \in C\} & \text{if } C \neq \emptyset, \\ +\infty & \text{if } C = \emptyset. \end{cases}$$

* The research of M. G. Crandall was partially supported by the National Science Foundation under Grant NSF-GP-8857 at Stanford University. The research of A. Pazy and H. Brezis was supported by the National Science Foundation under Grant NSF-GP-11458 and Grant NSF-GP-11600 at the Courant Institute of Mathematical Sciences, New York University. Reproduction in whole or in part is permitted for any purpose of the United States Government.

Let A and B be monotone sets in $X \times X^*$. $A + B$ is clearly monotone. However, if A and B are maximal monotone, then $A + B$ is not necessarily maximal monotone. $A + B$ may even be void; this happens when $D(A) \cap D(B) = \emptyset$. The main problem in the perturbation theory of maximal monotone sets is that of determining useful conditions under which the sum of two (or more) maximal monotone sets (or just monotone sets) is maximal monotone. Results in this direction have been established by Lescarret [9], Browder [4] and Rockafellar [15]. A common feature of most of these results is the assumption that at least one of the maximal monotone sets A or B has a domain with non-empty interior. In many applications however (see e.g. the examples in Section 3), the interior of the domains of the monotone sets, or operators, involved is void and the previous results cannot be applied directly.

The purpose of this paper is to obtain useful criteria for the case in which neither $D(A)$ nor $D(B)$ has a non-void interior. In Section 1 we present some preliminaries. We start with a renorming theorem for reflexive Banach spaces and continue with some convergence statements for monotone sets in Banach spaces. Section 2 contains the main results. It begins with a theorem, Theorem 2.1, which is the main tool used in proving all subsequent assertions. Theorem 2.1 is also used to obtain a simple proof of the main theorem of Rockafellar [15]. In Section 3 we give some examples of how the preceding results may be used in the study of certain nonlinear partial differential equations.

1. Monotone Sets in a Reflexive Banach Space

Let X be a real reflexive Banach space. It is known (see E. Asplund [1]) that if X is reflexive then there is an equivalent norm on X such that X is strictly convex under this norm and X^* is strictly convex under the dual norm. For our work we shall need a slightly stronger result:

THEOREM 1.1. *Let X be a reflexive Banach space with norm $\| \cdot \|$. For every $a > 1$ there exists an equivalent norm $\| \cdot \|_a$ on X such that*

(i) $\| \cdot \|_a$ is a strictly convex norm and its dual norm $\| \cdot \|_a^*$ is also strictly convex,

(ii) $a^{-1} \| \cdot \|_a \leq \| \cdot \| \leq a \| \cdot \|_a$ and $a^{-1} \| \cdot \|_a^* \leq \| \cdot \| \leq a \| \cdot \|_a^*$.

Proof: The proof of Theorem 1.1 follows, with minor changes, the arguments of E. Asplund in [1]. By a theorem of J. Lindenstrauss [10], there exists an equivalent norm $\| \cdot \|_X$ on X (respectively, $\| \cdot \|_{X^*}$ on X^*) which is strictly convex. (Note that $\| \cdot \|_X$ and $\| \cdot \|_{X^*}$ are not necessarily dual norms).

Let $\varepsilon > 0$ and define

$$\begin{aligned} f_0(x) &= \frac{1}{2}(\|x\|^2 + \varepsilon \|x\|_X^2), & x \in X, \\ g_0^*(y) &= \frac{1}{2}(\|y\|^{*2} + \varepsilon \|y\|_{X^*}^2), & y \in X^*. \end{aligned}$$

Choose ε small enough so that $f_0(x) \leq \frac{1}{2}a^2 \|x\|^2$ and $g_0^*(y) \leq \frac{1}{2}a^2 \|y\|^{*2}$, where g_0 is the conjugate function of g_0^* . Clearly there exists a $C > 0$ such that $g_0 \leq f_0 \leq (1 + C)g_0$. We consider the iteration procedure of [1]:

$$f_{n+1}(x) = \frac{1}{2}(f_n(x) + g_n(x)),$$

$$g_{n+1}(x) = \inf_{y \in X} \frac{1}{2}(f_n(x + y) - g_n(x - y)),$$

and obtain $h(x) = \lim f_n(x) = \lim g_n(x)$. Since $g_0(x) \leq h(x) \leq f_0(x)$, we have $(1/2a^2) \|x\|^2 \leq h(x) \leq \frac{1}{2}a^2 \|x\|^2$. Let $\| \cdot \|_a = \sqrt{2h(x)}$. By a theorem in [1], $\| \cdot \|_a$ and $\| \cdot \|_a^*$ are strictly convex norms (since f_0 and g_0^* are strictly convex) and they clearly satisfy (ii).

We shall henceforth assume that X is a real reflexive Banach space. The norms $\| \cdot \|$ in X and $\| \cdot \|^*$ in X^* will always be dual norms and if there is no danger of confusion we shall omit the star from the norm $\| \cdot \|$ in X^* and denote both the norm in X and its dual norm in X^* by $\| \cdot \|$.

Let F be the duality map of X , i.e., the subset of $X \times X^*$ defined by

$$F = \{[x, x^*] : x \in X, x^* \in X^* \text{ and } (x, x^*) = \|x\|^2 = \|x^*\|^2\}.$$

If X and X^* are strictly convex, then F is a single-valued function defined on all of X . We shall write $x^* = F(x)$ if $[x, x^*] \in F$. In this case, it is easy to check that F is one-to-one and onto. Moreover, the map F is strictly monotone (i.e., $(F(x) - F(y), x - y) > 0$ for $x \neq y$), hemicontinuous (i.e., the mapping $t \mapsto (F(x + ty), z)$ is continuous in t for $x, y, z \in X$), maps bounded sets into bounded sets and is coercive (i.e., $(F(x), x)/\|x\| \rightarrow \infty$ as $\|x\| \rightarrow \infty$). The duality map F clearly depends on the norm in X . If $\| \cdot \|_a$ is an equivalent norm on X , then we denote the duality map corresponding to $\| \cdot \|_a$ by F_a .

Let X and X^* be strictly convex and let A be a monotone set in $X \times X^*$; then it is well known (see e.g. Browder [4]) that A is maximal monotone if and only if $R(F + A) = X^*$. The following lemma is related to this result and will be needed later.

LEMMA 1.1. *Let $\{ \| \cdot \|_a \}$ be a family of strictly convex equivalent norms on X such that their dual norms are also strictly convex. Let F_a be the duality map corresponding to the norm $\| \cdot \|_a$. Let A be a monotone set in $X \times X^*$. If for every $f^* \in X^*$ and $u \in X$ there exists an a for which the equation*

$$(1.1) \quad v^* + F_a(v) = f^* + F_a(u), \quad [v, v^*] \in A,$$

has a solution $v \in X$, then A is maximal monotone.

Proof: Let $u \in X, f^* \in X^*$ be such that

$$(v^* - f^*, v - u) \geq 0 \text{ for every } [v, v^*] \in A.$$

Solving equation (1.1) yields $(F_a(v) - F_a(u), v - u) \leq 0$. But F_a is strictly monotone, and therefore $v = u$. Using (1.1) again, we obtain $v^* = f^*$, i.e., $[u, f^*] \in A$ and A is maximal monotone.

Our next lemma is analogous to Lemma 1.2 in Brezis-Stampacchia [2].

LEMMA 1.2. *Let B be a maximal monotone set in $X \times X^*$. If $[u_n, v_n^*] \in B, u_n \rightharpoonup u$ (weak convergence is denoted by \rightharpoonup), $v_n^* \rightharpoonup v^*$ and either*

$$(1.2) \quad \overline{\lim}_{n,m \rightarrow \infty} (u_n - u_m, v_n^* - v_m^*) \leq 0,$$

or

$$(1.3) \quad \overline{\lim}_{n \rightarrow \infty} (u_n - u, v_n^* - v^*) \leq 0,$$

then $[u, v^*] \in B$ and $(u_n, v_n^*) \rightarrow (u, v^*)$.

Proof: We prove the lemma with the condition (1.2). From the monotonicity of B it follows that

$$(1.4) \quad \lim_{n,m \rightarrow \infty} (u_n - u_m, v_n^* - v_m^*) = 0.$$

Let $\{n_i\}$ be a subsequence of $\{n\}$ such that $(u_{n_i}, v_{n_i}^*) \rightarrow L$. From (1.4) we obtain

$$\begin{aligned} 0 &= \lim_{n_i \rightarrow \infty} \left[\lim_{n_k \rightarrow \infty} (u_{n_i} - u_{n_k}, v_{n_i}^* - v_{n_k}^*) \right] \\ &= \lim_{n_i \rightarrow \infty} [(u_{n_i}, v_{n_i}^*) - (u_{n_i}, v^*) - (u, v_{n_i}^*) + L] \\ &= 2L - 2(u, v^*). \end{aligned}$$

Hence $L = (u, v^*)$ and therefore (since L is unique) $(u_n, v_n^*) \rightarrow (u, v^*)$. This implies that $(x - u, y^* - v^*) \geq 0$ for every $[x, y^*] \in B$, and $[u, v^*] \in B$ now follows from the maximality of B . The proof of the lemma with the condition (1.3) is similar.

Let X and X^* be reflexive and strictly convex and let B be a maximal monotone set in $X \times X^*$. As a consequence of a theorem of Browder [4] the equations

$$(1.5) \quad F(x_\lambda - x) + \lambda x_\lambda^* = 0, \quad [x_\lambda, x_\lambda^*] \in B,$$

have a unique solution $[x_\lambda, x_\lambda^*]$ for every $x \in X$ and $\lambda > 0$. We define

$$(1.6) \quad x_\lambda = J_\lambda x, \quad x \in X,$$

$$(1.7) \quad x_\lambda^* = B_\lambda x, \quad x \in X,$$

for every $x \in X$. We collect some elementary properties of J_λ and B_λ in the following lemma.

LEMMA 1.3. *Let X and X^* be strictly convex.*

- (a) B_λ is a (single-valued) monotone mapping of all of X into X^* .
- (b) B_λ and J_λ map bounded sets into bounded sets.
- (c) B_λ (respectively J_λ) is continuous from X with the strong topology to X^* (respectively X) with the weak topology.
- (d) For every $x \in D(B)$, $\|B_\lambda x\| \leq |Bx|$ and, for every $x \in \overline{\text{conv}(D(B))}$, $\lim_{\lambda \rightarrow 0} J_\lambda x = x$.
- (e) If $\lambda_n \rightarrow 0$, $x_n \rightarrow x$, $B_{\lambda_n} x_n \rightarrow y^*$ and

$$\overline{\lim}_{n, m \rightarrow \infty} (x_n - x_m, B_{\lambda_n} x_n - B_{\lambda_m} x_m) \leq 0,$$

then $[x, y^*] \in B$ and

$$\lim_{n, m \rightarrow \infty} (x_n - x_m, B_{\lambda_n} x_n - B_{\lambda_m} x_m) = 0.$$

Proof: (a) B_λ is clearly defined on all of X and is single-valued. Moreover,

$$\begin{aligned} (B_\lambda u - B_\lambda v, u - v) &= (B_\lambda u - B_\lambda v, J_\lambda u - J_\lambda v) \\ &+ (B_\lambda u - B_\lambda v, (u - J_\lambda u) - (v - J_\lambda v)) \\ &= (B_\lambda u - B_\lambda v, J_\lambda u - J_\lambda v) \\ &+ \frac{1}{\lambda} (F(J_\lambda u - u) - F(J_\lambda v - v), (J_\lambda u - u) - (J_\lambda v - v)) \\ &\geq 0, \end{aligned}$$

and hence B_λ is monotone.

(b) Let $[u, v^*] \in B$. Multiplying (1.5) by $J_\lambda x - u$ yields

$$(F(J_\lambda x - x), J_\lambda x - u) \leq \lambda(v^*, u - J_\lambda x)$$

which implies that J_λ maps bounded sets into bounded sets and since F maps bounded sets into bounded sets also B_λ has this property.

(c) Let $x_n \rightarrow x_0$ in X . Let $u_n = J_\lambda x_n$, $v_n^* = B_\lambda x_n$; then u_n and v_n^* are bounded (by (b)). We have $F(u_n - x_n) + \lambda v_n^* = 0$, and therefore

$$\begin{aligned} (F(u_n - x_n) - F(u_m - x_m), (u_n - x_n) - (u_m - x_m)) + \lambda(v_n^* - v_m^*, u_n - u_m) \\ = (F(u_n - x_n) - F(u_m - x_m), x_m - x_n). \end{aligned}$$

Since the right-hand side tends to zero as $n, m \rightarrow \infty$ and the two terms on the left-hand side are non-negative we have

$$\lim_{n, m \rightarrow \infty} (v_n^* - v_m^*, u_n - u_m) = 0$$

and

$$\lim_{n, m \rightarrow \infty} (F(u_n - x_n) - F(u_m - x_m), (u_n - x_n) - (u_m - x_m)) = 0.$$

Let $\{n_k\}$ be a subsequence of $\{n\}$ such that $u_{n_k} \rightarrow u$, $v_{n_k}^* \rightarrow v^*$ and $F(u_{n_k} - x_{n_k}) \rightarrow \eta^*$. Then $[u, v^*] \in B$ and $F(u - x_0) + \lambda v^* = 0$, by Lemma 1.2. Consequently, $u = J_\lambda x_0$ and $v^* = B_\lambda x_0$ and therefore (since the limits are unique) $J_\lambda x_n \rightarrow J_\lambda x_0$ and $B_\lambda x_n \rightarrow B_\lambda x_0$ and the proof of (c) is complete.

(d) Let $[x, x^*] \in B$ and $F(x_\lambda - x) + \lambda x_\lambda^* = 0$; then

$$\begin{aligned} 0 &\leq (x - x_\lambda, x^* - x_\lambda^*) = \left(x - x_\lambda, x^* + \frac{F(x_\lambda - x)}{\lambda} \right) \\ &\leq -\frac{\|x - x_\lambda\|^2}{\lambda} + \|x - x_\lambda\| \|x^*\|, \end{aligned}$$

and thus

$$\|x_\lambda^*\| = \|B_\lambda x\| = \frac{\|x - x_\lambda\|}{\lambda} \leq \|x^*\|.$$

Since $x^* \in Bx$ is arbitrary, $\|B_\lambda x\| \leq |Bx|$. Let $[v, v^*] \in B$, then

$$\begin{aligned} (1.8) \quad \|x_\lambda - x\|^2 &= (F(x_\lambda - x), x_\lambda - x) \\ &= (F(x_\lambda - x), x_\lambda - v) + (F(x_\lambda - x), v - x) \\ &\leq \lambda(v^*, v - x_\lambda) + (F(x_\lambda - x), v - x). \end{aligned}$$

It follows from (1.8) that $\|x_\lambda\|$ is bounded as $\lambda \rightarrow 0$, therefore $\|F(x_\lambda - x)\|$ is

bounded. Let $\lambda_n \rightarrow 0$ be a sequence such that $F(x_{\lambda_n} - x) \rightarrow \eta$; then (1.8) implies

$$(1.9) \quad \overline{\lim}_{n \rightarrow \infty} \|x_{\lambda_n} - x\|^2 \leq (\eta, v - x) \quad \text{for every } v \in D(B),$$

and therefore also for every $v \in \overline{\text{conv}(D(B))}$. If $x \in \overline{\text{conv}(D(B))}$, (1.9) yields $x_{\lambda_n} \rightarrow x$ which implies that $x_\lambda \rightarrow x$. Moreover, a simple argument shows that the convergence is uniform on compact subset of $\overline{\text{conv} D(B)}$.

(e) Since $[J_{\lambda_n}x_n, B_{\lambda_n}x_n] \in B$, part (e) follows directly from Lemma 1.2 applied to $u_n = J_{\lambda_n}x_n$ and $v_n^* = B_{\lambda_n}x_n$, noting that $\|B_{\lambda_n}x_n\| \leq M$ implies that $\|u_n - x_n\| = \|J_{\lambda_n}x_n - x_n\| \rightarrow 0$ as $n \rightarrow \infty$ and that

$$\lim_{n, m \rightarrow \infty} (x_n - x_m, B_{\lambda_n}x_n - B_{\lambda_m}x_m) = \lim_{n, m \rightarrow \infty} (u_n - u_m, B_{\lambda_n}x_n - B_{\lambda_m}x_m) = 0.$$

The proof of Lemma 1.3 is complete.

Remarks. 1. If, in part (c) of Lemma 1.3, X has the property that $x_n \rightarrow x$ together with $\|x_n\| \rightarrow \|x\|$ imply $x_n \rightarrow x$, then J_λ is strongly continuous from X to X .

2. Lemma 1.3 part (d) clearly implies that if X is any reflexive Banach space and B is maximal monotone in $X \times X^*$, then $\overline{D(B)}$ is convex. Moreover, if X and X^* are strictly convex and X satisfies the condition of Remark 1, then $D(B)$ is virtually convex in the sense of Rockafellar [16]. Thus Lemma 1.3 part (d) provides us with a simple proof of the results of [16].

3. Rockafellar [16] considers for every $y^* \in X^*$ the equation

$$\lambda F(x_\lambda) + x_\lambda^* = y^*, \quad [x_\lambda, x_\lambda^*] \in B,$$

and then denotes: $x_\lambda^* = P_\lambda(y^*)$. He raises the question whether P_λ is continuous in some natural topologies. It is easy to see that P_λ is the operator $J_\lambda : X^* \rightarrow X^*$ which corresponds to B^{-1} (maximal monotone in $X^* \times X$). Therefore by part (c), P_λ is continuous from X^* with the strong topology to X^* with the weak topology. In addition, if X^* has the property that $y_n^* \rightarrow y, \|y_n\| \rightarrow \|y\|$ imply $y_n \rightarrow y^*$, then P_λ is strongly continuous from X^* to X^* .

4. Let X and X^* be strictly convex and let A and B be maximal monotone sets in $X \times X^*$. According to Browder [4] (Theorem 2), $A + B_\lambda$ is maximal monotone for every $\lambda > 0$.

Our last lemma is a generalization of Lemma 2.4 of Crandall–Pazy [6].

LEMMA 1.4. *Let X and X^* be reflexive and strictly convex. Let $\{x_n\} \subset X$ and let $\{r_n\}$ be a monotonic sequence of positive real numbers. Further, let*

$$(x_n - x_m, r_n F(x_n) - r_m F(x_m)) \leq 0.$$

Then:

(i) If $r_n \rightarrow \infty$, then $\|x_n\|$ is non-increasing and $x = \text{w-lim } x_n$ exists. Moreover, $\lim \|x_n\| = \|x\|$.

(ii) If $r_n \rightarrow 0$, then $\|x_n\|$ is non-decreasing. If $\{\|x_n\|\}$ is bounded, $x = \text{w-lim } x_n$ exists and $\|x\| = \lim \|x_n\|$.

Proof: We have

$$\begin{aligned}
 2(x_n - x_m, r_n F(x_n) - r_m F(x_m)) &= (r_n - r_m)(\|x_n\|^2 - \|x_m\|^2) \\
 (1.10) \qquad \qquad \qquad &+ r_n(\|x_n\|^2 - 2(x_n, F(x_n)) + \|x_m\|^2) \\
 &+ r_m(\|x_n\|^2 - 2(x_n, F(x_m)) + \|x_m\|^2).
 \end{aligned}$$

The last two terms are non-negative; hence,

$$(r_n - r_m)(\|x_n\|^2 - \|x_m\|^2) \leq 0,$$

and the monotonicity of $\{\|x_n\|\}$ follows. Let us prove (i). Divide (1.10) by $r_n + r_m$ to find

$$\begin{aligned}
 &\frac{r_n - r_m}{r_n + r_m} (\|x_n\|^2 - \|x_m\|^2) \\
 (1.11) \qquad &+ \frac{r_n}{r_n + r_m} (\|x_n\|^2 - 2(x_n, F(x_n)) + \|x_m\|^2) \\
 &+ \frac{r_m}{r_n + r_m} (\|x_n\|^2 - 2(x_n, F(x_m)) + \|x_m\|^2) \leq 0.
 \end{aligned}$$

Let $\|x_n\| \rightarrow L$ and assume $F(x_{n_i}) \rightarrow \eta$. Fix m and let $n \rightarrow \infty$ through $\{n_i\}$ in (1.11). Since $r_n \rightarrow +\infty$, we obtain

$$(L^2 - \|x_m\|^2) + (L^2 - 2(x_m, \eta) + \|x_m\|^2) \leq 0 \quad \text{for every } m.$$

Letting $m \rightarrow \infty$, we see that

$$\lim_{m \rightarrow \infty} (x_m, \eta) = L^2.$$

Since $\|\eta\| \leq L$, $\|x_m\| \leq L$; this implies $x_m \rightarrow F^{-1}(\eta)$ and $\|\eta\| = L$. The proof of (ii) is similar.

We finish this section with some remarks on a special kind of maximal monotone set in $X \times X^*$. Let f be a convex lower semi-continuous function from X

into $R \cup \{+\infty\}$. We assume that f is proper (i.e., not identically $+\infty$). We recall that the subdifferential

$$\partial f(u) = \{w^* : w^* \in X^* \text{ and } f(v) \geq f(u) + (w^*, v - u) \text{ for every } v \in X\}$$

is a maximal monotone set (see e.g. [14]).

Note that if K is a non-void closed convex set in X and ψ_K is the indicator function of K (i.e., $\psi_K(x) = 0$ for $x \in K$ and $\psi_K(x) = +\infty$ for $x \notin K$), then ψ_K is a proper, convex and lower semi-continuous function. It follows that $\partial\psi_K$ is a maximal monotone set in $X \times X^*$. It is easy to verify that the domain of $\partial\psi_K$ is K and that $w^* \in \partial\psi_K(u)$ if and only if $(w^*, u - v) \geq 0$ for every $v \in K$.

2. Perturbation Theorems

We begin this section with a theorem which turns out to be very useful in proving perturbation results. Let X be strictly convex with a strictly convex dual X^* . Let A and B be maximal monotone sets in $X \times X^*$. According to the discussion in Section 1, $A + B_\lambda$ is maximal monotone in $X \times X^*$ and it follows that the conditions

$$(2.1) \quad F(x_\lambda) + x_\lambda^* + B_\lambda x_\lambda = f^*, \quad [x_\lambda, x_\lambda^*] \in A,$$

determine a unique $x_\lambda \in X$ for every $f^* \in X^*$.

THEOREM 2.1. *Let X be strictly convex with a strictly convex dual X^* . Let A and B be maximal monotone sets in $X \times X^*$, and let x_λ be the solution of equation (2.1). Then $f^* \in R(F + A + B)$ if and only if $\|B_\lambda x_\lambda\|$ is bounded as λ tends to zero.*

Proof: Let $f^* \in R(F + A + B)$. Then there exists an $x \in X$ such that

$$(2.2) \quad F(x) + x_1^* + x_2^* = f^*, \quad [x, x_1^*] \in A, [x, x_2^*] \in B.$$

Let x_λ be the solution of equation (2.1); then

$$\begin{aligned} 0 &\leq (F(x_\lambda) - F(x), x_\lambda - x) = (x_1^* - x_\lambda^*, x_\lambda - x) + (x_2^* - B_\lambda x_\lambda, x_\lambda - x) \\ &\leq (x_2^* - B_\lambda x_\lambda, x_\lambda - x), \end{aligned}$$

since A is monotone. Using

$$x_\lambda = J_\lambda x_\lambda + \lambda F^{-1}(B_\lambda x_\lambda),$$

we obtain

$$\begin{aligned} 0 &\leq (x_2^* - B_\lambda x_\lambda, J_\lambda x_\lambda - x) + (x_2^* - B_\lambda x_\lambda, \lambda F^{-1}(B_\lambda x_\lambda)) \\ &\leq (x_2^* - B_\lambda x_\lambda, \lambda F^{-1}(B_\lambda x_\lambda)), \end{aligned}$$

since B is monotone and $B_\lambda x_\lambda \in BJ_\lambda x$. Thus, $\|B_\lambda x_\lambda\|^2 \leq (x_2^*, F^{-1}(B_\lambda x_\lambda))$ or $\|B_\lambda x_\lambda\| \leq \|x_2^*\|$, and the condition is necessary.

To prove that the condition is sufficient we show that the equation (2.2) has a solution if $\|B_\lambda x_\lambda\|$ is bounded. Let $[x_0, x_0^*] \in A$ and multiply equation (2.1) by $x_\lambda - x_0$. After rearrangement we obtain

$$\begin{aligned} \|x_\lambda\|^2 &\leq (f^*, x_\lambda - x_0) + (F(x_\lambda), x_0) - (x_\lambda^*, x_\lambda - x_0) - (B_\lambda x_\lambda, x_\lambda - x_0) \\ &\leq (f^*, x_\lambda - x_0) + (F(x_\lambda), x_0) - (x_0^*, x_\lambda - x_0) - (B_\lambda x_\lambda, x_\lambda - x_0) \\ &\leq C_1 \|x_\lambda\| + C_2, \end{aligned}$$

which implies that $\|x_\lambda\| \leq C_1^2 + 2C_2$, i.e., $\|x_\lambda\|$ is bounded. By our assumption, $\|B_\lambda x_\lambda\| \leq C$ and therefore in equation (2.1) we have $\|x_\lambda^*\| \leq C$. We choose a sequence $\lambda_n \rightarrow 0$ such that $x_{\lambda_n} \rightarrow x_0$, $x_{\lambda_n}^* \rightarrow x_1^*$, $B_{\lambda_n} x_{\lambda_n} \rightarrow x_2^*$ and $F(x_{\lambda_n}) \rightarrow z^*$. Using equation (2.1) for λ_n and λ_m , we obtain

$$\begin{aligned} 0 &= (F(x_{\lambda_n}) + x_{\lambda_n}^* - (F(x_{\lambda_m}) + x_{\lambda_m}^*), x_{\lambda_n} - x_{\lambda_m}) \\ &\quad + (B_{\lambda_n} x_{\lambda_n} - B_{\lambda_m} x_{\lambda_m}, x_{\lambda_n} - x_{\lambda_m}); \end{aligned}$$

since $F + A$ is monotone, the last equation implies

$$\overline{\lim}_{n, m \rightarrow \infty} (B_{\lambda_n} x_{\lambda_n} - B_{\lambda_m} x_{\lambda_m}, x_{\lambda_n} - x_{\lambda_m}) \leq 0$$

and hence, by Lemma 1.3(e), $[x_0, x_2^*] \in B$ and

$$\lim_{n, m \rightarrow \infty} (B_{\lambda_n} x_{\lambda_n} - B_{\lambda_m} x_{\lambda_m}, x_{\lambda_n} - x_{\lambda_m}) = 0.$$

Consequently,

$$\lim_{n, m \rightarrow \infty} (F(x_{\lambda_n}) + x_{\lambda_n}^* - (F(x_{\lambda_m}) + x_{\lambda_m}^*), x_{\lambda_n} - x_{\lambda_m}) = 0$$

and, since A is monotone,

$$\overline{\lim}_{n, m \rightarrow \infty} (F(x_{\lambda_n}) - F(x_{\lambda_m}), x_{\lambda_n} - x_{\lambda_m}) \leq 0.$$

Therefore, by Lemma 1.2, $z^* = F(x_0)$ and

$$\lim_{n,m \rightarrow \infty} (x_{\lambda_n}^* - x_{\lambda_m}^*, x_{\lambda_n} - x_{\lambda_m}) = 0,$$

which again by Lemma 1.2 implies that $[x_0, x_1^*] \in A$. Passing to the limit through the sequence $\{\lambda_n\}$ in equation (2.1), we obtain $F(x_0) + x_1^* + x_2^* = f^*$, $[x_0, z_1^*] \in A$, $[x_0, x_2^*] \in B$, i.e., $f^* \in R(F + A + B)$.

Remarks. 1. If $f^* \in R(F + A + B)$, then there exist a unique $x \in X$ and an $x^* \in (A + B)x$ such that $f^* = F(x) + x^*$. Let $x^* = x_1^* + x_2^*$, where $x_1^* \in Ax$ and $x_2^* \in Bx$. This decomposition of x^* is in general not unique. We can choose any x_2^* in the non-void convex set $Hx = Bx \cap (f - F(x) - Ax)$ and then take the corresponding x_1^* . If, however, the solution of (2.2) is obtained as in the proof of Theorem 2.1, i.e., by a sequence of solutions of (2.1) for which x_λ , $F(x_\lambda)$, x_λ^* and $B_\lambda x_\lambda$ converge weakly, then x_2^* and x_1^* are uniquely determined, x_2^* is the element of minimum norm in Hx and $x_1^* = f^* - F(x) - x_2^*$. This is a direct consequence of the first part of the proof of Theorem 2.1 in which we took for x_2^* any element in Hx and obtained $\|B_\lambda x_\lambda\| \leq \|x_2^*\|$.

2. In the sufficient part of Theorem 2.1, we obtained a solution of (2.2) by considering a sequence of solutions of (2.1) with some special properties. Using Remark 1, we shall show that, if $f^* \in R(F + A + B)$ and

$$F(x_\lambda) + x_\lambda^* + B_\lambda x_\lambda = f^*, \quad [x_\lambda, x_\lambda^*] \in A,$$

then $x_\lambda \rightarrow x_0$, $F(x_\lambda) \rightarrow F(x_0)$, $B_\lambda x_\lambda \rightarrow \bar{x}_2^*$ and $x_\lambda^* \rightarrow x_1^*$, where x_0 is the unique solution of equation (2.2), \bar{x}_2^* is the element of minimum norm in Hx_0 and $x_1^* = f^* - F(x_0) - \bar{x}_2^*$. Moreover, if X and X^* are uniformly convex, then the above weak limits are strong limits.

Proof: Any sequence $\lambda_n \rightarrow 0$ has a subsequence λ'_n such that $x_{\lambda'_n}$, $F(x_{\lambda'_n})$, $x_{\lambda'_n}^*$ and $B_{\lambda'_n} x_{\lambda'_n}$ converge weakly. As in the proof of Theorem 2.1, we then have $x_{\lambda'_n} \rightarrow x_0$, $F(x_{\lambda'_n}) \rightarrow F(x_0)$, $B_{\lambda'_n} x_{\lambda'_n} \rightarrow \bar{x}_2^*$ (by Remark 1) and $x_{\lambda'_n}^* \rightarrow x_1^* = f^* - F(x_0) - \bar{x}_2^*$. Since the limits are uniquely determined and λ_n was an arbitrary sequence converging to zero, this implies $x_\lambda \rightarrow x_0$, $F(x_\lambda) \rightarrow F(x_0)$, $B_\lambda x_\lambda \rightarrow \bar{x}_2^*$ and $x_\lambda^* \rightarrow x_1^* = f^* - F(x_0) - \bar{x}_2^*$.

Assume now that X and X^* are uniformly convex. Since $B_\lambda x_\lambda \rightarrow \bar{x}_2^*$ and $[x_0, \bar{x}_2^*] \in B$, we have

$$\|\bar{x}_2^*\| \leq \underline{\lim} \|B_\lambda x_\lambda\| \leq \overline{\lim} \|B_\lambda x_\lambda\| \leq \|x_2^*\|;$$

therefore, $\lim \|B_\lambda x_\lambda\| = \|x_2^*\|$ and the uniform convexity of X^* implies $B_\lambda \bar{x}_\lambda \rightarrow \bar{x}_2^*$. Subtracting (2.1) from

$$F(x_0) + x_1^* + \bar{x}_2^* = f^*$$

and multiplying by $x_\lambda - x_0$ yields, after passing to the limit as $\lambda \rightarrow 0$,

$$\overline{\lim} (F(x_\lambda) - F(x_0), x_\lambda - x_0) \leq 0,$$

which implies $\|x_\lambda\| \rightarrow \|x_0\|$ and we conclude that $x_\lambda \rightarrow x_0$ and $F(x_\lambda) \rightarrow F(x_0)$. The proof is complete.

3. A direct proof of Remark 2 can be obtained using Lemma 1.4.

Using Theorem 2.1 we obtain an alternative proof of the following theorem of Rockafellar [15].

THEOREM 2.2. *Let X be a reflexive Banach space. Let A and B be maximal monotone in $X \times X^*$. If $\text{int}(D(A)) \cap D(B) \neq \emptyset$, then $A + B$ is maximal monotone in $X \times X^*$.*

Proof: We choose in X and X^* any strictly convex equivalent dual norms (see Theorem 1.1). Clearly, we may assume without loss of generality that $0 \in \text{int}(D(A)) \cap D(B)$ and $0 \in A0, 0 \in B0$. This can be achieved by shifting $D(A), D(B)$ and $R(A), R(B)$. Let f^* be any element of X^* and consider the equation

$$(2.3) \quad F(x_\lambda) + x_\lambda^* + B_\lambda x_\lambda = f^*, \quad x_\lambda^* \in Ax_\lambda.$$

Since A and B are monotone, $0 \in A0$ and $0 \in B0$, we see by multiplying (2.3) by x_λ that

$$(2.4) \quad \|x_\lambda\| \leq \|f^*\|,$$

and

$$(2.5) \quad (x_\lambda^*, x_\lambda) \leq \|f^*\|^2.$$

Moreover, since $0 \in \text{int}(D(A))$, A is locally bounded at 0 (see e.g. Rockafellar [15]). Hence there exist constants $\alpha > 0$ and $K > 0$ such that if $\|x\| < \alpha$, then $x \in D(A)$ and if $x^* \in \bigcup_{\|x\| < \alpha} Ax$, then $\|x^*\| \leq K$.

For $\lambda > 0$, define $z_\lambda = \frac{1}{2}\alpha F^{-1}(x_\lambda^*)/\|x_\lambda^*\|$. Since $\|z_\lambda\| = \frac{1}{2}\alpha < \alpha$, $z_\lambda \in D(A)$. Let $[z_\lambda, z_\lambda^*] \in A$. Then $\|z_\lambda^*\| \leq K$ and we have

$$0 \leq (x_\lambda^* - z_\lambda^*, x_\lambda - z_\lambda) = (x_\lambda^*, x_\lambda) - (x_\lambda^*, z_\lambda) - (z_\lambda^*, x_\lambda) + (z_\lambda^*, z_\lambda);$$

therefore,

$$\begin{aligned} \frac{1}{2}\alpha \|x_\lambda^*\| &\leq (x_\lambda^*, z_\lambda) \leq (x_\lambda^*, x_\lambda) + (z_\lambda^*, z_\lambda) - (z_\lambda^*, x_\lambda) \\ &\leq \|f^*\|^2 + K(\frac{1}{2}\alpha + \|f^*\|). \end{aligned}$$

This implies that $\|x_\lambda^*\| \leq C$. Using this together with (2.3) and (2.4) we see that $\|B_\lambda x_\lambda\| \leq C$ and therefore, by Theorem 2.1, $f^* \in R(F + A + B)$. Since f^* was arbitrary, $R(F + A + B) = X^*$ and $A + B$ is maximal monotone.

We now turn to our main result.

THEOREM 2.3. *Let X be a reflexive Banach space. Let A and B be maximal monotone sets in $X \times X^*$ such that*

- (i) $D(A) \subset D(B)$,
- (ii) $|Bx| \leq k(\|x\|) |Ax| + C(\|x\|)$, where $k(r)$ and $C(r)$ are non-decreasing functions of r and $k(r) < 1$ for every r .

Then $A + B$ is maximal monotone in $X \times X^$.*

Proof: Without loss of generality we may assume that $0 \in D(A)$, $0 \in A0$ and $0 \in B0$. This can be achieved by shifting the domains and ranges of A and B .

Let $\{\|\cdot\|_a\}$ be the family of equivalent norms on X introduced in Theorem 1.1. In view of Lemma 1.1, $A + B$ is maximal monotone if for every $f^* \in X^*$ and $u \in X$ there exists an a such that

$$f^* + F_a(u) \in R(F_a + A + B).$$

To show that this is indeed the case, consider the equation

$$(2.6) \quad F_a(x_\lambda) + x_\lambda^* + B_\lambda^a x_\lambda = f^* + F_a(u), \quad [x_\lambda, x_\lambda^*] \in A.$$

For every $f^* \in X^*$, $u \in X$ and any fixed a , this equation has a unique solution x_λ . If $\|B_\lambda^a x_\lambda\|_a$ is bounded as λ tends to zero, then $f^* + F_a(u) \in R(F_a + A + B)$ by Theorem 2.1. To prove the theorem it is therefore sufficient to show that, for every $f^* \in X^*$ and $u \in X$, there exists an a such that $\|B_\lambda^a x_\lambda\|_a$ is bounded as λ tends to zero. Multiplying (2.6) by x_λ yields

$$\|x_\lambda\|_a \leq \|f^*\|_a + \|u\|_a \leq a(\|f^*\| + \|u\|),$$

since $B_\lambda^a 0 = 0$. Let $R = 2(\|f^*\| + \|u\|)$ and choose a such that $1 < a < 2$ and $k(R)a^2 < 1$. Using equation (2.6) again, we obtain

$$(2.7) \quad \begin{aligned} a^{-1} |Ax_\lambda| &\leq |Ax_\lambda|_a \leq \|x_\lambda^*\|_a \leq \|f^*\|_a + \|B_\lambda^a x_\lambda\|_a + \|u\|_a + \|x_\lambda\|_a \\ &\leq 2a(\|f^*\| + \|u\|) + |Bx_\lambda|_a \\ &\leq 2a(\|f^*\| + \|u\|) + a|Bx_\lambda| \\ &\leq 2a(\|f^*\| + \|u\|) + ak(R)|Ax_\lambda| + aC(R). \end{aligned}$$

Thus $|Ax_\lambda| \leq a^2k(R)|Ax_\lambda| + C$, which implies that $|Ax_\lambda|$ is bounded and therefore, by (2.7), $|Bx_\lambda|_a$ is bounded. Hence, $\|B_\lambda^a x_\lambda\|_a$ is bounded and the proof is complete.

Remarks. 1. If X and X^* are uniformly convex, condition (ii) of Theorem 2.3 can be replaced by the following local condition:

(ii)' For every $x \in \overline{D(A)}$ there exist a neighborhood V_x of x , a $k_x < 1$ and a constant C_x such that

$$|By| \leq k_x |Ay| + C_x \text{ for every } y \in D(A) \cap V_x.$$

We do not know whether or not this is true in a general reflexive Banach space.

2. In the case that X is a Hilbert space (and the case of accretive operators in Banach space), Theorem 2.3 was first proved by Crandall and Pazy [6]. For these cases, Kato [8] observed that condition (ii) of Theorem 2.3 can be replaced by the local condition (ii)'.

COROLLARY 2.1. *Let X be a reflexive Banach space. Let A be a maximal set in $X \times X^*$, and let B be a single-valued monotone hemicontinuous operator with convex domain $D(B)$ in X . If $D(A) \subset D(B)$ and*

$$\|Bu\| \leq k(\|u\|) \|Au\| + C(\|u\|) \text{ for every } u \in D(A),$$

where $k(r)$ and $C(r)$ are non-decreasing functions and $k(r) < 1$ for every r , then $A + B$ is maximal monotone in $X \times X^*$.

Proof: Let \bar{B} be a maximal monotone extension of B . Let $K = \overline{D(B)}$. Clearly, $|\bar{B}u| \leq \|Bu\|$ for every $u \in D(A)$ and $D(\bar{B}) \supset D(B) \supset D(A)$. Therefore, $A + \bar{B}$ is maximal monotone by Theorem 2.3. We shall prove that, for every $u \in D(B)$,

$$(2.8) \quad \bar{B}u \subset Bu + \partial\psi_K(u).$$

Let $u \in D(B)$ and $f \in \bar{B}u$; then

$$(2.9) \quad (Bv - f, v - u) \geq 0 \text{ for every } v \in D(B).$$

Let $w \in D(B)$ and define $v_t = (1 - t)u + tw$, $0 < t \leq 1$. Substituting v_t in place of v in (2.9) yields

$$(f - Bv_t, u - w) \geq 0.$$

Letting t tend to zero and using the hemicontinuity of B , we obtain

$$(f - Bu, u - w) \geq 0$$

for every $w \in D(B)$ and therefore also for every $w \in \overline{D(B)} = K$. Thus,

$$f - Bu \in \partial\psi_K(u) \Leftrightarrow f \in Bu + \partial\psi_K(u)$$

and (2.8) is proved. From (2.8) it follows that $A + \tilde{B} \subset A + B + \partial\psi_K$. But $A = A + \partial\psi_K$, since $D(A) \subset K$ and A is maximal monotone. Therefore, $A + \tilde{B} \subset A + B$ which implies $A + \tilde{B} = A + B$ and hence $A + B$ is maximal monotone.

3. Applications

In this section we give three simple examples in which the previous theory is applied to partial differential equations. Our main interest is in the technique used to solve the problems rather than in the specific results. We denote by Ω a bounded domain in R^n with smooth boundary $\partial\Omega$, and by $H^m(\Omega)$, $H_0^m(\Omega)$ the usual Sobolev spaces.

EXAMPLE 1. Let $\beta \subset R \times R$ be a maximal monotone set in $R \times R$ such that $0 \in D(\beta)$. Let $V(x) \in L^p(\Omega)$, $p \geq 2$, and $V(x) \geq 0$ a.e. in Ω .

THEOREM 3.1. *Let $p > \frac{1}{2}n$; then for every $f \in L^2(\Omega)$ there exists a unique solution $u \in H^2(\Omega)$ of the equation*

$$(3.1) \quad \begin{aligned} f \in (-\Delta u + \beta(u) + Vu) & \quad \text{in} \quad \Omega, \\ u = 0 & \quad \text{on} \quad \partial\Omega. \end{aligned}$$

More precisely, there exists a $g \in L^2(\Omega)$ such that $g(x) \in \beta(u(x))$ a.e. in Ω and the equation

$$(3.1)' \quad \begin{aligned} -\Delta u + g + Vu = f & \quad \text{in} \quad \Omega, \\ u = 0 & \quad \text{on} \quad \partial\Omega. \end{aligned}$$

is satisfied.

To prove Theorem 3.1, let $X = X^* = L^2(\Omega)$ and let $\| \cdot \|$ be the $L^2(\Omega)$ norm. We introduce the following operators:

$$\tilde{\beta} = \{[u, v] : u, v \in L^2(\Omega) \text{ and } v(x) \in \beta(u(x)) \text{ a.e. in } \Omega\}.$$

Clearly $\tilde{\beta}$ is maximal monotone in $X \times X^*$. There is no loss of generality in assuming that $0 \in \tilde{\beta}(0)$ and we shall henceforth assume this.

Let $D(A) = H^2(\Omega) \cap H_0^1(\Omega) \cap D(\tilde{\beta})$ and let $Au = -\Delta u + \tilde{\beta}(u)$ for $u \in D(A)$. Using Theorem 2.1, we shall show that A is maximal monotone. It is well known (see e.g. Nirenberg [13]) that $-\Delta$ with domain $H^2(\Omega) \cap H_0^1(\Omega)$ is

maximal monotone in $L^2(\Omega) \times L^2(\Omega)$. Hence the equation

$$(3.2) \quad \begin{aligned} -\Delta u_\lambda + \bar{\beta}_\lambda(u_\lambda) + u_\lambda &= f & \text{in } \Omega, \\ u_\lambda &= 0 & \text{on } \partial\Omega, \end{aligned}$$

has a solution $u_\lambda \in H^2(\Omega) \cap H_0^1(\Omega)$. Multiplying (3.2) by $\bar{\beta}_\lambda(u_\lambda)$, integrating over Ω and noting that $\bar{\beta}_\lambda(u_\lambda) \cdot u_\lambda \geq 0$ a.e. in Ω and that

$$-\int_{\Omega} \Delta u_\lambda \cdot \bar{\beta}_\lambda(u_\lambda) \, dx \geq 0$$

(since $\bar{\beta}_\lambda = (\bar{\beta})_\lambda$ and β_λ is a monotone Lipschitz function), we obtain

$$(3.3) \quad \|\bar{\beta}_\lambda(u_\lambda)\| \leq \|f\|.$$

Therefore (by Theorem 2.1), the equation

$$\begin{aligned} f \in (-\Delta u + \bar{\beta}(u) + u) & \quad \text{in } \Omega, \\ u = 0 & \quad \text{on } \partial\Omega, \end{aligned}$$

has a solution. Since $f \in L^2(\Omega)$ is arbitrary, A is maximal monotone. Moreover, for any $f \in Au$ we have (see [13])

$$\|u\|_{H^2(\Omega)} \leq C \|\Delta u\| \leq C \|f\| \quad \text{for every } u \in D(A),$$

and therefore,

$$(3.4) \quad \|u\|_{H^2(\Omega)} \leq C |Au| \quad \text{for every } u \in D(A).$$

Let $D(B) = \{u : u \in L^2(\Omega) \text{ such that } Vu \in L^2(\Omega)\}$. Since $V \geq 0$, B is monotone. It is maximal monotone, since the equation

$$u + \lambda Vu = f, \quad \lambda > 0,$$

has the solution $u = f/(1 + \lambda V)$ which is in $L^2(\Omega)$ for every $f \in L^2(\Omega)$.

We now use Theorem 2.3 to show that $A + B$ is maximal monotone. We start by showing that $D(A) \subset D(B)$. For this it is sufficient to show that $H^2(\Omega) \subset D(B)$. Consider

$$\|Bu\|^2 = \int_{\Omega} V^2 u^2 \, dx \leq \left(\int_{\Omega} V^{2 \cdot p/2} \right)^{2/p} \left(\int_{\Omega} u^{2q} \right)^{1/q},$$

where $1/q + 2/p = 1$, i.e., $q = p/(p - 2)$. Thus,

$$(3.5) \quad \|Bu\| \leq \|V\|_{L^p(\Omega)} \|u\|_{L^{2q}(\Omega)} .$$

But $p > \frac{1}{2}n$ implies $1/2q > \frac{1}{2} - 2/n$ and, therefore, by Sobolev's theorem, $H^2(\Omega) \subset L^{2q}(\Omega)$. Moreover, the embedding is compact. This implies that $H^2(\Omega) \subset D(B)$ and that for every $\varepsilon > 0$ there exists a constant $C(\varepsilon)$ such that

$$\|u\|_{L^{2q}(\Omega)} \leq \varepsilon \|u\|_{H^2(\Omega)} + C(\varepsilon)\|u\| .$$

Using this estimate together with (3.4) and (3.5) we see that

$$\|Bu\| \leq \varepsilon C \|V\|_{L^p(\Omega)} |Au| + C(\varepsilon) \|V\|_{L^p(\Omega)} \|u\| .$$

Choosing ε so small that $\varepsilon C \|V\|_{L^p(\Omega)} < 1$, we obtain the estimate which is needed in Theorem 2.3, and hence $A + B$ is maximal monotone.

To complete the proof note that $A + B$ is also coercive and, therefore, $R(A + B) = X^* = L^2(\Omega)$.

Theorem 3.1, together with the results of Crandall and Pazy [6], yields the following corollary.

COROLLARY 3.1. *Let β and V be the same as in Theorem 3.1 and let*

$$u_0 \in H^2(\Omega) \cap H_0^1(\Omega) \cap D(\bar{\beta}) .$$

Then the equation

$$(3.6) \quad \begin{aligned} 0 \in \frac{\partial u}{\partial t} - \Delta u + \bar{\beta}(u) + Vu & \quad \text{in} \quad \Omega \times (0, +\infty) , \\ u(x, t) = 0 & \quad \text{on} \quad \partial\Omega \times (0, +\infty) , \\ u(x, 0) = u_0(x) & \quad \text{in} \quad \Omega , \end{aligned}$$

has a unique solution $u(x, t) \in C(0, +\infty; L^2(\Omega))$ such that

$$u(x, t) \in H^2(\Omega) \cap H_0^1(\Omega) \cap D(\bar{\beta})$$

for every fixed $t \geq 0$ and $\partial u/\partial t \in L^\infty(0, +\infty; L^2(\Omega))$.

Remark. It can be shown that $\partial u/\partial t \in L^2(0, +\infty; H_0^1(\Omega))$.

EXAMPLE 2. Let $\psi_1, \psi_2 \in H^2(\Omega)$ satisfy $\psi_1 \leq \psi_2$ in Ω and $\psi_1 \leq 0 \leq \psi_2$ on $\partial\Omega$. The set

$$K = \{v : v \in L^2(\Omega), \psi_1 \leq v \leq \psi_2 \text{ a.e. on } \Omega\}$$

is clearly a closed convex subset of $L^2(\Omega)$. Let P_K be the projection on K in $L^2(\Omega)$. For every u in $L^2(\Omega)$ we have

$$(3.7) \quad P_K u = u + (\psi_1 - u)^+ - (u - \psi_2)^+,$$

where $r^+ = \max(r, 0)$.

Let $V(x) \in L^p(\Omega)$, $p \geq 2$, and $V(x) \geq 0$ a.e. in Ω and consider the following problem: Given any $f \in L^2(\Omega)$, find a function $u \in H^2(\Omega) \cap H_0^1(\Omega) \cap K$ such that

$$(3.8) \quad \int_{\Omega} (f + \Delta u - Vu)(u - v) \, dx \geq 0 \quad \text{for every } v \in K.$$

This elliptic inequality is equivalent to the problem

$$(3.9) \quad \begin{aligned} f &\in -\Delta u + \partial\psi_K(u) + Vu, \\ u &\in H^2(\Omega) \cap H_0^1(\Omega), \end{aligned}$$

where ψ_K is the indicator function of the convex set K .

THEOREM 3.2. *The elliptic inequality (3.8) has a unique solution $u \in H^2(\Omega) \cap H_0^1(\Omega) \cap K$ for every $f \in L^2(\Omega)$ provided that $p > \frac{1}{2}n$.*

To prove Theorem 3.2, let $X = X^* = L^2(\Omega)$ and let $\| \cdot \|$ be the $L^2(\Omega)$ norm. We introduce the operators: A , with domain $D(A) = H^2(\Omega) \cap H_0^1(\Omega) \cap K$, defined by $A = -\Delta u + \partial\psi_K(u)$ and B , multiplication by $V(x)$, as in Example 1. From the results of [2] it follows that A is maximal monotone. Nevertheless, we give here a direct proof of this result which seems to be simpler and is based on Theorem 2.1. Using Theorem 2.3 we conclude that $A + B$ is maximal monotone. Finally we note that $A + B$ is also coercive and, therefore, $R(A + B) = L^2(\Omega)$. We start with a lemma.

LEMMA 3.1. *Let L be a linear operator, $L : H^2(\Omega) \rightarrow L^2(\Omega)$, such that*

$$\int_{\Omega} Lw \cdot w^+ \, dx \geq 0$$

for every $w \in H^2(\Omega)$ which satisfies $w \leq 0$ on $\partial\Omega$. Then

$$\int_{\Omega} Lv \cdot (v - P_K v) \, dx \geq -C_K \|v - P_K v\|$$

for every $v \in H^2(\Omega)$ and $C_K = \|L\psi_1\| + \|L\psi_2\|$.

Proof: We have

$$\begin{aligned} \int_{\Omega} Lv(v - P_K v) \, dx &= \int_{\Omega} Lv[(v - \psi_2)^+ - (\psi_1 - v)^+] \, dx \\ &\geq \int_{\Omega} L\psi_2 \cdot (v - \psi_2)^+ \, dx - \int_{\Omega} L\psi_1(\psi_1 - v)^+ \, dx \\ &\geq -\|L\psi_2\| \|(v - \psi_2)^+\| - \|L\psi_1\| \|(\psi_1 - v)^+\| \\ &\geq -(\|L\psi_1\| + \|L\psi_2\|) \|v - P_K v\|, \end{aligned}$$

since $\|(v - \psi_2)^+\|^2 + \|(\psi_1 - v)^+\|^2 = \|v - P_K v\|^2$.

We now prove that A is maximal monotone. For f given in $L^2(\Omega)$, consider the equation

$$(3.10) \quad \begin{aligned} -\Delta u_\lambda + (\partial \psi_K)_\lambda u_\lambda + u_\lambda &= f && \text{in } \Omega, \\ u_\lambda &= 0 && \text{on } \partial\Omega. \end{aligned}$$

It is easy to verify that

$$(\partial \psi_K)_\lambda v = \frac{1}{\lambda} (v - P_K v) \quad \text{for every } v \in L^2(\Omega).$$

Multiplying equation (3.10) by $(\partial \psi_K)_\lambda u_\lambda$ and integrating over Ω yields

$$\frac{1}{\lambda} \int_{\Omega} (-\Delta u_\lambda + u_\lambda)(u_\lambda - P_K u_\lambda) \, dx + \|(\partial \psi_K)_\lambda u_\lambda\|^2 = \frac{1}{\lambda} \int_{\Omega} f \cdot (\partial \psi_K)_\lambda u_\lambda \, dx.$$

Using Lemma 3.1 with $L = -\Delta + I$, we obtain

$$\|(\partial \psi_K)_\lambda u_\lambda\|^2 - C_K \|(\partial \psi_K)_\lambda u_\lambda\| \leq \|f\| \|(\partial \psi_K)_\lambda u_\lambda\|,$$

and hence

$$(3.11) \quad \|(\partial \psi_K)_\lambda u_\lambda\| \leq \|f\| + C_K.$$

By Theorem 2.1 we conclude that $f \in R(I + A)$ and, since f was arbitrary, A is maximal monotone.

From equations (3.10) and (3.11) we have

$$\|-\Delta u_\lambda + u_\lambda\| \leq 2 \|f\| + C_K;$$

passing to the limit as $\lambda \rightarrow 0$ we obtain

$$(3.12) \quad \|-\Delta u + u\| \leq 2 \|f\| + C_K .$$

Let $v \in D(A)$ and $g \in Av$; then $g + v \in -\Delta u + v + \partial\psi_K(v)$ and therefore, by (3.12),

$$\|-\Delta v + v\| \leq 2 \|g\| + 2 \|v\| + C_K$$

from which we conclude that

$$(3.13) \quad \|v\|_{H^2(\Omega)} \leq C' \|-\Delta v + v\| \leq C(\|Av\| + \|v\| + 1) \quad \text{for every } v \in D(A) .$$

From this point the proof proceeds exactly as the proof of Example 1. Equation (3.13) replaces equation (3.4) and after a simple computation we obtain $D(A) \subset D(B)$ and

$$\|Bu\| \leq k \|Au\| + C(\|u\|) \quad \text{for every } u \in D(A) ,$$

where $k < 1$.

Using the results of [6] in conjunction with Theorem 3.2 we obtain

COROLLARY 3.2. *Assume that the conditions of Theorem 3.2 are satisfied. Let $u_0 \in H^2(\Omega) \cap H_0^1(\Omega) \cap K$. Then the parabolic inequality*

$$(3.14) \quad \int_{\Omega} \left(\Delta u - Vu - \frac{\partial u}{\partial t} \right) (u - v) \, dx \geq 0 \quad \text{for every } v \in K ,$$

$$u(0) = u_0 ,$$

has a unique solution $u \in C(0, +\infty; L^2(\Omega))$ such that $u(x, t) \in H^2(\Omega) \cap H_0^1(\Omega) \cap K$ for every $t \geq 0$ and $\partial u / \partial t \in L^\infty(0, +\infty; L^2(\Omega))$.

Remarks. 1. It can be shown that $\partial u / \partial t \in L^2(0, T; H_0^1(\Omega))$.

2. Weak solutions of (3.8) and (3.14) could be obtained using the results of Browder [5], Hartman and Stampacchia [7] and Lions-Stampacchia [12].

EXAMPLE 3. Let \mathcal{V} be a reflexive Banach space, \mathcal{H} be a Hilbert space and let

$$\mathcal{V} \subset \mathcal{H} \subset \mathcal{V}^* ,$$

where the embedding is dense and continuous. Let \mathcal{K} be a closed convex set in \mathcal{V} and $0 \in \mathcal{K}$. We denote by (\cdot, \cdot) the scalar product in \mathcal{H} and in the duality $\mathcal{V}, \mathcal{V}^*$. Let $X = L^p(0, T; \mathcal{V})$, $p \geq 2$, and $X^* = L^{p'}(0, T; \mathcal{V}^*)$ with

$1/p + 1/p' = 1$ and let

$$K = \{u \in X : u(t) \in \mathcal{K} \text{ a.e. on } (0, T)\}.$$

THEOREM 3.3. *Let $B : K \cap C(0, T; \mathcal{H}) \rightarrow X^*$ be a single-valued monotone hemicontinuous and coercive operator such that*

$$(3.15) \quad \|Bu\|_{X^*} \leq \phi_1(\|u\|_X) \|u\|_{C(0,T;\mathcal{H})}^\alpha + \phi_2(\|u\|) \\ \text{for every } u \in K \cap C(0, T; \mathcal{H}),$$

with $\alpha < 2$, ϕ_1 and ϕ_2 non-decreasing functions. Then for every $f \in X^*$ there exists a $u \in K \cap C(0, T; \mathcal{H})$ such that $u(0) = 0$ (respectively $u(0) = u(T)$) which is a solution of

$$(3.16) \quad \int_0^T \left(f - Bu - \frac{dv}{dt}, v - u \right) dt \leq 0$$

for every $v \in K$ with $dv/dt \in X^*$, $v(0) = 0$ (respectively $v(0) = v(T)$).

To prove Theorem 3.3 we show that the operators A and B defined below satisfy the conditions of Corollary 2.1. Let A be defined as follows: $g \in Au$ if and only if $u \in K$, $g \in X^*$ and

$$\int_0^T \left(g - \frac{dv}{dt}, v - u \right) dt \leq 0$$

for every $v \in K$ with $dv/dt \in X^*$, $v(0) = 0$ (respectively $v(0) = v(T)$). It follows from a result of Brezis [3] that A is maximal monotone. Moreover, if $u \in D(A)$, then $u \in C(0, T; \mathcal{H})$, $u(0) = 0$ (respectively $u(0) = u(T)$) and

$$\|u\|_{C(0,T;\mathcal{H})}^2 \leq C_1 |Au|_{X^*} \|u\|_X + C_2 \|u\|_X^2 \text{ for every } u \in D(A).$$

Using (3.15) we then have, for every $u \in D(A)$,

$$\|Bu\|_{X^*}^2 \leq (C_1 |Au|_{X^*} \|u\|_X + C_2 \|u\|_X^2)^{\alpha/2} \phi_1(\|u\|_X) + \phi_2(\|u\|_X) \\ \leq C_1^{\alpha/2} |Au|_{X^*}^{\alpha/2} \|u\|_X^{\alpha/2} + \psi(\|u\|_X) \leq \varepsilon |Au|_{X^*} + C_\varepsilon(\|u\|_X)$$

(ε can be chosen arbitrarily small since $\alpha < 2$). Thus the conditions of Corollary 2.1 are satisfied and hence $A + B$ is maximal monotone. Finally since $0 \in A0$ and B is coercive, $A + B$ is coercive and $R(A + B) = X^*$.

Remark. Theorem 3.3 includes as a particular case the result of Lions [11].

Bibliography

- [1] Asplund, E., *Averaged norms*, Israel J. Math., Vol. 5, 1967, pp. 227–233.
- [2] Brezis, H., and Stampacchia, G., *Sur la régularité de la solution d'inéquations elliptiques*, Bull. Soc. Math. France, Vol. 96, 1968, pp. 153–180.
- [3] Brezis, H., to appear.
- [4] Browder, F. E., *Nonlinear maximal monotone operators in Banach spaces*, Math. Ann., Vol. 175, 1968, pp. 89–113.
- [5] Browder, F. E., *Nonlinear monotone operators and convex sets in Banach spaces*, Bull. Amer. Math. Soc., Vol. 71, 1965, pp. 780–785.
- [6] Crandall, M. G., and Pazy, A., *Nonlinear semi-groups of contractions and dissipative sets*, J. Functional Anal., Vol. 3, 1969, pp. 376–418.
- [7] Hartman, P., and Stampacchia, G., *On some nonlinear elliptic differential functional equations*, Acta Math., Vol. 115, 1966, pp. 271–310.
- [8] Kato, T., *Accretive operators and nonlinear evolution equations in Banach spaces*, Proc. Symp. on Nonlinear Functional Analysis, Chicago, 1968, to appear.
- [9] Lescarret, C., *Cas d'addition des applications monotones maximales dans un espace de Hilbert*, C. R. Acad. Sci. Paris, Vol. 261, 1965, pp. 1160–1163.
- [10] Lindenstrauss, J., *On nonseparable reflexive Banach spaces*, Bull. Amer. Math. Soc., Vol. 72, 1966, pp. 967–970.
- [11] Lions, J. L., *Sur quelques propriétés des solutions d'inéquations variationnelles*, C. R. Acad. Sci. Paris, Vol. 267, 1968, pp. 631–633.
- [12] Lions, J. L., and Stampacchia, G., *Variational inequalities*, Comm. Pure Appl. Math., Vol. 20, 1967, pp. 493–519.
- [13] Nirenberg, L., *Remarks on strongly elliptic partial differential equations*, Comm. Pure Appl. Math. Vol. 8, 1955, pp. 648–675.
- [14] Rockafellar, R. T., *Convex functions, monotone operators and variational inequalities*, Proceedings of the Conference on Monotone Operators, Venice, 1968.
- [15] Rockafellar, R. T., *On the maximality of sums of nonlinear monotone operators*, to appear.
- [16] Rockafellar, R. T., *On the virtual convexity of the domain and range of a nonlinear maximal monotone operator*, to appear.

Received May, 1969.